Roller Coaster On-line Project

Name ________________________________

Partner’s Name _____________________________________

Internet research: Surf the roller coaster links and select four different roller coasters.  You will be finding the following information out about the four roller coasters.

1. Location

2. Name

3. The highest hill

4. Average speed

5. Length of course

6. Age

7. Type

8. G-force

Record this information in a data table and include it on your poster. 
On poster board make four bar graphs one comparing the height of the four coasters, one comparing the speed, number of inversions and one comparing the length of course 

Include two pictures or drawings of your roller coaster in your report or on your poster.

These assignments will be done in class.

“G”Force”
The maximum G force category is the force of gravity your body endures as the roller coaster reaches the bottom of the hills or banks around spirals.  One coaster, for example, generates a maximum G force of 4.6. That means you feel 4.6 times heavier in a pullout than you do normally. Shuttle astronauts, by comparison, experience only 3 G’s at liftoff.

Multiply 4.6 by your body weight for the G force equivalent: a 100 pound person would feel as if she weighed 460 pounds.  G forces can also be zero (weightless) or negative (a rising sensation). The number of inversions indicates how many times riders are flipped upside down. 

“Gravity”

Gravity determines how much you weigh.  It is the force that keeps all things from floating up when we’re on a spinning spaceship Earth.  The Earth’s mass and spinning create pull toward the surface like when you fall back to the ground when you jump or a ball falls back to the ground when you hit a high pop up.  On the space shuttle things float because there is microgravity in space.  To create artificial gravity in the space shuttle toilet they have to make it spin.

On the moon a 100 pound person would weight about 16 pounds. 1/6 your weight on the moon.  Due to the size of the moon there is less gravity and less weight. On larger planets such as Jupiter a 100 pounder would weigh much more.  It would be like swimming in syrup.

Select three coasters and calculate how much each person would weigh on the coasters.  Show your work.

